Aire et Périmetre des Trapezes (A)

Calculez le périmetre et 'aire de chaque trapeze.
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Aire et Périmetre des Trapezes (A) Réponses

Calculez le périmetre et 'aire de chaque trapeze.

8 dm
]
- s
v 2 &
o B2
[
6,5 dm
P=712dm
A = 187,775 dm?
11,3 dm
]
g g
N o 5
) -~ o
N C[; Ci?“
[
14,6 dm
P =2844dm
A = 361,305 dm?
9 dm
)
.
5 & g
o o <
[l
5,9 dm

P =529dm
A = 137,825 dm?

2. ,

2
’4J’d
(@28
=N
2
17" 11,6 yd T
ot
K=
<
ol
43
;de
P = 36,8 yd
A = 64,96 yd?
4.
g
- 306 km---L] o
= 10
.M i
©
5]

P =994 km
A = 556,92 km?

6.
el
>
i
Ll og2ya L =
el
>
I~
=
Q
9
\Qib
P =372vd
A = 77,28 yd?

MathsLibres.com




